Y2 — Spring — Block 1 — Step 9 — Find change Answers

Question Answer

25p

4p

28p

15-50 50 +15 15+ 50

Her change will be 15p less than 50p.

£4

£1 and 30p

a) 30p

b) 33p

c) 9p

£1is 100p, so the change is 100 - the cost of the item.

There is no coin that could mean that the change is £2 and 19p.
The largest coin is £2 and so the change must be less than £2

a) pear
If all the coins were silver coins, then the price of the item must end in 0 or 5
If one of the coins in her change was 20p, then the price of the item must be less
than 30p.
b) multiple possible answers, e.g.
chocolate bar and bottle of water
17p




